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HPPE
EF 52 B | ¢ 100X 5,000 5.000 148 740.000 PN 148 | 740.000
HPPE
P& REE (L —r =2 R)| ¢ 100X 5,000 5.000 26.180 ¥N 6 30.000
EFMi 52~ | ¢ 100X 45° 0.380 5 1.900 1A 5 1.900
EFMi 52~ F| ¢ 100X 22 1/2° 0.280 6 1.680 2| 6 1.680
EFY /7R ¢ 100 3 1 3
PESEL [ fF& 7 h— )98 o 100 0.860 1 0.860 1A 1 0.860
A =TNFvy 7| ¢ 100 1 1 1
TR
B R RS — 1 150mm # 7V m | 770.4 770.44
EINIE R
BRI —7|5cm m | 770.6 770.62
S 770.620 m 774.440
R m 3.820
it & 770.620 m 770.620




YR

AT X-Pid /K& HPPE ¢ 100mm

ERE=

HPPE ¢ 100 5.00 m
% por par [t P it = S Sy Lj:”*ﬁ N -
R4 No. | zbI%& cYE | O | g | e & F *E ) e | Bl
4TX 1 4.800 4.800 0.200 1
2 1.590 3.320 4.910 0.090 2
3 2.950 1.010 1.010 4.970 0.030 3
4 1.970 2.000 0.620 4.590 0.410 3
5 2.220 2.520 4.740 0.260 2
6 1.120 1.050 2.170 2.830 2
i 26.180 || 26.180 3.820 13
X Z
6 134




BT

4T X -fd/KE HPPE ¢ 100

T fii A& -~k i B =X ¥ & | HAL
HPPE ¢ 100

Al [AR=IE=Y

R =T LU AR T $ 100 770.62 - 0.86 769.76 | m
L 5k FE AR

EFfkF T $ 100 148 + (5+6)X2 170 | M
2Ok aly

EFfEF T. $ 100 3 3| AT

Fyy7°

AN =TI VR T ¢ 100 1 1] A

R F LAY T $ 100 13 13| @

e FrakE T ¢ 100 1 1) %

) FpEgLE T H=700Jf] 1 L | f&pT

W R R —hT 770.4 770.4 | m
RYTF L

ERT—7 1 6 100 770.6 770.6 | m

m/ H

KRBT 6 1500 F a7k HEARL  |770.62+1250 0.62| H
T4 AR

PRE R R T $ 100 1 1 | f&ipT
KL ot —(Fr 7))

HRER I R $ 100 1 1 | f&ipT




FEFE T(MF 1) BEEFHE

CARTIET e
FREAAT [ d=0.70 ]
[ n=1f&7T ]
i
Tk~ B HME
s ek E
¢ 250X 150 1 1 {E]
e
250X 50 {(E]
HrEE
$ 250 X 150 1 1 {E]
LT
$ 250 X 300 4]
HRERRE
¢ 250X 100 1 1 i
¥t RSB
$ 250X 200 1]
| RE
# 6 250X 300 ]
A
¢ 250X 150 1 1 i
A
$ 250 X 300 i
JERR
¢ 250X 60 1 1 J[E5]
FREES 610
B
$ 250 1 1 {E]
B | b e R
$ 250 3 3 {E
i
JEERR
T $ 250 1 1 {E




+ T 4 2 & 4TX-EAK%E HPPE ¢ 100mm

Lzl =
Fﬂu+a
T il i i AL FTO| ETO| LT LETD[+TE[ +HTO® i | AE

As

TSI T t=15cmPA F m | 75.80 2.40 80.00 23.62 | 26.06 207.88 | 210
As

ERSEUE T t=10cmbPl F m® | 20.85 0.66 22.00 6.50 7.17 57.18 57
Co

AT UII T t=15cmbL F m 1333.00 1333.00 | 1330
Co

ShEETUE T t=10cmPL F m’ 66.65 66.65 67
BH 0.28m3

PR B FOA T MY 1 m’ | 15.11 0.81 17.05 | 283.26 | 5.03 9.14 330.40 | 330
BH 0.28m3

R R T AR m® | 8.39 0.60 9.96 | 195.27 | 2.94 6.83 223.99 | 224
YA

INE t=20cm m? 6.50 7.17 13.67 14
YA

INE t=15cm m” | 20.85 0.66 | 22.00 43.51 44
bV

e T t=15cm m® | 2085 | 0.66 | 22.00 43.51 44
bV

JE T t=12cm m? 6.50 7.17 13.67 14
FAHLRT E As20

I t=10cm m® | 20.85 | 0.66 21.51 292
AR As20

&S T t=5cm m’ 22.00 22.00 292
FA R AS1S

IR ERHE T t=3cm m’ 6.50 7.17 13.67 14

F R T +7b m® | 15.11 0.81 17.05 | 283.26 | 5.03 9.14 330.40 | 330

7 R by +ap m’ | 15.11 0.81 17.05 | 283.26 | 5.03 9.14 330.40 | 330

LY T AsHy m’ | 2.09 0.07 1.10 0.33 0.36 3.95 4

ALy Asik t 4.91 0.16 2.59 0.78 0.85 9.29 9

wRALSS T Coik m’ 6.67 6.67 7

ALy Coi% t 15.67 15.67 16




TTHEEHER LTO

Wl e BB | BB [l |
(L) (h) (hm)
+T®
NO.0O+ 576.040 0.00 0.70 — — .
613.940|  37.90 0.70 070 2653 _EBER(5-5-15-15)
(£#Y0. 70m)
ERERREUET As t=10cm L BAIHEA t=100n
# | EEe
s w =4
lsmrs 8
wak | =
§ Y | DRRE 2|
Q EEET— F 18
| &z S
HPPE ¢ 100
T.f& JER~HE it &K o BT
As
LD T t=15cmE T 1.00 X 2X37.90 75.80 | m
As
SRR T t=10cm 0.55 %X 37.90 20.85 | m2
BH 0.28m3
BEIEEIEGA T BVt 0.55X0.725 X 37.90 15.11 | m3
BH 0.28m3
Fe R B T A AR (0.55X0.425—- © —4 X 0.12572) X 37.90 8.39 | m3
YA A
T E AT t=15cm 20.85 | m2
R
ERAE T t=15cm 20.85 | m2
FEAHDRT EEAs20
(A T t=10cm 20.85| m2
AT b 15.11 15.11 | m3
FE sy - 15.11 | m3
ALy T Asik 20.85x0.10 2.09| m3
Ry AsEl 2.09X2.35 4.91 t
& & 37.90 26.53
S 40 h= 2 (Lshm),/ ZL = 0.70 m




TTHEEHER 1TO

Wl e BB | BB [l |
(L) (h) (hm)
1@
NO.0O+ 574.840 0.00 1.20 — — D355 (5-5-15-15)
576.040 1.20 1.20 1.20 1.44
(Y 1. 20m)
S ARIUET As t=10cm 550 HEHAAEAS20 t=100m
i ﬁll} RH#EIB .
= | I =
| RERE 2
| aBRE 8
B —
gl = i ‘ =
& wHl -
HA b g
| \
| L4 5
HPPE ¢ 100
T TR~k R o BT
As
ST T t=15cmE T 1.00X 2 X 1.20 240 m
As
[ESie N t=10cm 0.55 X% 1.20 0.66 | m2
BH 0.28m3
BEIEEIEGA T BVt 0.55%1.225X1.20 0.81 | m3
BH 0.28m3
F bR T A AR (0.55%X0.925- 7 +4X0.125"2) X 1.20 0.60 | m3
BILARAT
TJE AT t=15cm 0.66 | m2
R
AT t=15cm 0.66 | m?2
FAEMURLEE As20
(S A4 T t=10cm 0.66 | m2
AT b 0.81 0.81 | m3
R Ueg RN 0.81| m3
LSy T Asifk 0.66X0.10 0.07 m3
RSy B Asifk 0.07X2.35 0.16 t
& i 1.20 1.44
S 40 h= 2 (Lshm),/ ZL = 1.20 m




TTHEEHER 1T0O

Wl e BB | BB [l |
(L) (h) (hm)
NO.0+ 1280.440 0.00 0.70 — — iI@
1320.440 40.00 0.70 0.70 28.00
@8 8B (5-15-15)
(£#% Y0.70m)
WERIET As t=6cm 550 B EAS20 t=5cm
€ Hl! REIB
ER N 7
iy | HORE 2
- £Hl | gARE 8
| © CEF I S
H2 b E
' YARY
HPPE ¢ 100
Tfd FER~HE R B HAAT
As
LD T t=15cmE T 1.00 X 2X40.00 80.00| m
As
SRR T t=5cm 0.55 % 40.00 22.00 | m2
BH 0.28m3
BEIEEIEGA T BVt 0.55X0.775 X 40.00 17.05 | m3
BH 0.28m3
Fh R T A (0.55X0.475- 7 —4 X 0.12572) X 40.00 9.96 | m3
YA A
T E AT t=15cm 22.00 | m2
R
ERAE T t=15cm 22.00 | m2
FEA BRI EAs20
(A T t=bcm 22.00 | m2
AT b 17.05 17.05 | m3
FE sy - 17.05| m3
ALy T Asik 22.00%0.05 1.10 | m3
Ry Asik 1.10%X2.35 2.59 t
& & 40.00 28.00
S 40 h= 2 (Lshm),/ ZL = 0.70 m




TTHEEHR 1T@

Wl e BB | BB [l |
(L) (h) (hm)
1I@ (BER
NO.0O+ 613.940 0.00 0.70 — — TI@3EIR)
1280.440|  666.50 0.70 0.70 | 466.55 BLEZYI 1L L b LA
(4% Y 0. 70m) . Fi s
HEMRET Co t=10cm  BERHERT 0 oA e (4 #%+0.70m) T
‘ N ~ ‘\\ e
N A
\ /‘ ﬁ
I L
. i
o R y @
s o i [P &|
350 B 4350 = I
ks 550 ’J aei
ﬁ@ HPPE ¢ 100
Tfd JEeR~TE R Ko HAAT
Co
LD T t=15cmET 1.00 X 2 X 666.50 1333.00| m
Co
AR T t=10cm 0.10 X 666.50 66.65 | m2
BH 0.28m3
B EEDA T |[BVE 1+ (0.425) X 666.50 283.26 | m3
BH 0.28m3
Fh R T A (0.555 % 0.550— 7 +~4X0.125°2) X666.50 | 195.27 | m3
AT T 283.26 283.26 | m3
¥y +w 283.26 | m3
ALy T Coik 66.65%0.10 6.67 | m3
TRy B Cork 6.67X2.35 15.67 t
& i 666.50 466.55
S 40 h= 2 (Lshm),/ ZL = 0.70 m




TTHEEHER 1T6

Wl e BB | BB [l |
(L) (h) (hm)
TI®
NO.0+ 550.000 0.00 0.70 — — .
561.810]  11.81 070|  0.70 8.27 R (5-10-20)
(£#Y0. 70m)
SERRBUET As t=5cm 550 BAEBHEASI3  t=3cn
# Al Ree
- < ; =
| HERE &
2 . -
- Eh | 2B g
o = EEET— b 8
| #z ~ 2
HPPE ¢ 100
Tfd JeR~HE R = o HAAT
As
LD T t=15cmET 1.00X2x11.81 23.62| m
As
AR T t=5cm 0.55X%11.81 6.50 | m2
BH 0.28m3
BEIEEIEGA T BVt 0.55X0.775x 11.81 5.03| m3
BH 0.28m3
F bR T A (0.55X0.475- 7 +4X0.125°2) X 11.81 2.94| m3
YA A
TJE AT t=20cm 6.50 | m2
R
AT (=12cm 6.50 | m?2
AR A3
(S A4 T t=3cm 6.50 | m2
AT b 5.03 5.03 | m3
FE sy - 5.03| m3
ALy T Asik 6.50X0.05 0.33| m3
ALY B Asik 0.33X2.35 0.78 t
& & 11.81 8.27
S 40 h= 2 (Lshm),/ ZL = 0.70 m




TTHEEHER 1T6

Wl e BB | BB [l |
(L) (h) (hm)
+I®
NO.0O+ 561.810 0.00 1.20 — — (S B (5-10-20)
574.840 13.03 1.20 1.20 15.64
(%Y 1. 20m)
SHEMIET As t=5cm 560 BAEBHAASI3  t=3cm
- £ M| RER
N T nEeE g
YEARE g
‘Etﬁ#‘/— [
ME i ‘ o
5|7 HEH boc]
i | H2Z bk o
|
HPPE ¢ 100
T fd JER~HE R o BT
As
LD T t=15cmE T 1.00X2X13.03 26.06| m
As
SRR T t=5cm 0.55%13.03 7.17| m?2
BH 0.28m3
BEIEEIEGA T BVt 0.55X1.275X%13.03 9.14 | m3
BH 0.28m3
Fh R T A (0.55%0.975- 7 —4X0.1252) X 13.03 6.83| m3
BILARAT
TJE AT t=20cm 7.17| m2
R
BT (=12cm 7.17 | m?2
AR EEASTS
(A T t=3cm 717 | m2
AT b 9.14 9.14 | m3
FE sy - 9.14| m3
ALy T Asik 7.17X0.05 0.36 | m3
Ry Asik 0.36X2.35 0.85 t
& i 13.03 15.64
S 40 h= 2 (Lshm),/ ZL = 1.20 m




8T 4T X-F/KE HPPE ¢ 100

T fii A& -~k i B =X ¥ & | HAL
BEERRA T 2yY
#E

FAfE T BER AR50 BERR it 50

s bl L A 666.5X0.7X0.082 + 666.5X 0.3 X0.025 43 | m3
pOE R T Coik 43 | m3
BRLGy 101.1] t
BEERER T vy
#HIH
BT a3k 666.5%0.7 467 | m
BT ry 7 666.5%0.3 200 [ m




frH THALEE 10mY V&
(BXs%)
FESEEER IO
780,210 x 300
2
g [
| o
XSEEMNT 0 Y/ RL2GOINEHRRHA, WERZWBLT S,
(1Eig)
100
avhy—k
Y
BELZIL
HHEER 10m Y
#HE o | HE
avy)—»k \ o avay—k 1.05 m3
S = i 0.70 m2
E 32 4c) . ‘ - BELSZL 004 [ m3
S ; ) BE R 24 550 | m
Ad_ T E®ELAL | 0005 | md
$RInyy 16.5 [
550
T i Hirs Tk i B = o & | BAL
e
R T
&N L T RS (0.190.30+0.07 X 0.50-0.20 % 0.05) X 10.00 0.82 | m3
B LGy T Cok 0.82 | m3
NAEEEEN 7 vy s HERIE T U — MO A
(0.07X0.50-0.20 X 0.05) X 10.00 (0.25)] m3
#IA
SHGERE R T ey 180/200 X 300 X 600 SCHTRR E T BERR 16.5 | f#
oL ) —h (0.55%0.10+0.25 X 0.07+0.1 X 0.32) X 10.00 1.05 | m3
pinp 0.07 X 10.00 0.70 | m2
e LA )L 0.20%0.02 X 10.00 0.04 | m3
A RC-30 t=10cm 0.55 % 10.00 5.50 | m2
H #hE /L% L 0.005 | m3




